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27 + 2.7 +0.27
329.2 =100
Work out: 998 x 23

A washing machine usually costs £441.00. Today it is on sale for
£402.00. If Noah buys the washing machine today, how much will he
save?

The winner of a marathon ran the race in 2 hours and 24 minutes. Terry
was 1 hour and 37 minutes behind the winner. What was Terry's time?

Will needs to buy 54 hooks. They come in packs of 5. How many packs will
he need to buy?

Who will have more - 3 friends who share £5.82 or 4 friends who share
£7.92?

You may use a calculator for this question.
How many minutes are there in 1—12 of a day? (you may use a calculator)



